Further Maths GCSE
Trigonometric Equations and Identities
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f(x) = sinx 180° <

g(x) =cosx 0°<x

360°
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Calculate the value of f(210°).
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Complete this inequality for the range of f(x).
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You are given that 0<g(x)

Work out the value of (.
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Express 1 —tan0sin0cos 0 in terms of cos ().
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Solve 3c0s20—-1=0 for 0° < 0 <180°
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1 1
Prove that tan()+m = sin0cos0
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tan?(0 +3tan0 =0 for 0° < 0 < 360°
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2
Prove that tan?x—1= 12%
cos” x
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Angle 6 is obtuse and sin 6= g

Work out the values of cos 6.
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Expand and simplify (25 + 1)(s — 1)
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Hence, or otherwise, solve 2sin0-sin®-1=0 for 0° < 0 < 360°
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Here is a right-angled triangle.
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Solve  5sinx - 2sinx=0 for 0° < x < 360°




